Das Einsdurcheins mit 17 Uben [2]

Zum grofien Einmaleins

Aufgabe 1 Aufgabe 2

1..102 : 17 = 1. 34 17 =
2. 19 17 = 2. 153 17 =
3. 136 : 17 = 3. 170 : 17 =
4. 34 17 = 4. 85 17 =
5102 : 17 = 5 51 17 =
6. 85 17 = 6. 102 17 =
70102 17 = 7o 34 17 =
8. 102 : 17 = 8. 8 17 =
% 51 17 = 9. 8 17 =
0. 136 : 17 = 10, 102 : 17 =
Aufgabe 3 Aufgabe 4

1. 34 : 17 = T M9 17 =
2. 19 17 = 2. 68 17 =
3. 581 17 = 3. 68 17 =
4. 81 17 = 4. 1583 : 17 =
5 170 : 17 = 5 8 17 =
6. 1F 17 = 6. 183 17 =
o019 17 = 7. 51 17 =
8. 68 : 17 = 8 M9 : 17 =
9. 102 : 17 = 9. 136 : 17 =
10, 34 : 17 = 10, 170 : 17 =
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Das Einsdurcheins mit 17 tben [2] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1 Aufgabe 2

1.102 : 17 = 6 1. 34 17 = 2
2. 19 17 = 7 2. 153 : 17 = 9
3. 136 : 17 = 8 3. 170 : 17 = 10
4. 34 17 = 2 4. 85 17 = 5
5102 : 17 = 6 5 51 17 = 3
6. 8 17 = 5 6. 102 : 17 = 6
7102 17 = 6 7. 34 17 = 2
8 102 : 17 = 6 8 8 17 = 5
9 51 17 = 3 9. 8 17 = 5
10, 136 : 17 = 8 0. 102 : 17 = 6
Aufgabe 3 Aufgabe 4

1. 34 17 = 2 . 19 17 = 7
2. 19 17 = 7 2. 68 17 = 4
3. 51 17 = 3 3. 68 17 = 4
4. b1 17 = 3 4. 153 17 = 9
5 170 : 17 = 10 5 8 17 = 5
6. 17 17 = 1 6. 183 17 = 9
o019 17 = 7 7. 51 17 = 3
8 68 17 = 4 8 19 17 = 7
9. 102 : 17 = 6 9. 136 : 17 = 8
0. 34 17 = 2 0. 170 : 17 = 10
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